Unit 1 Day 7

Similarity continued



Given triangle CDE with C(2, 2), D(-6, 4) and E(-2, -6), ‘*y«*‘
write the points of the image under the following transformations.
For #1 and 2, write the description and the vertices. For #3 and 4,
give the algebraic rule and the coordinate pairs.

Enlargement by scale factor of 3.
D(X,Y)—=>(3%,3Y) 6. 6), D'(-18. 12). E'(-6, -18)

1 Reduction by a factor %a.
2)(X y) - (4 A yj C’(1/2,1/2), D’(-3/2, 1), E’(-1/2, -3/2)

3) Dilation with a scale factor 2 (X, y) = (2x, 2y)
C’4,4),D’(-12, 8), E’(-4, -12)
4) Horizontal shrink with scale factor of 1/3, vertical shrink
with a scale factor 1/3 (x, y) = (1/3x, 1/3y)

C’(2/3, 2/3), D’(-2, 4/3), E’(-2/3, -2)

5) Do you agree or disagree with Logan? Explain your reasoning.
Disagree! There is no common scale factor
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Day 6 Homework
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Day 6 Homework
,contihued
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DayY 6 Homework Contihued

13) Given ACBA ~ AFED. Find x, y, and the

measure of each angle.

mZLA = 7x + 2y

mZD = 24° X =6

mZC = 30 y = -9

MR B2y 2430, 126
B

14) Given AHIJ ~ AKLM. Find x, y, and the

measure of each angle.

Angle H=20°
ngle J = -2x - 2y
Angl =10° y:_8
gle M = 10
20, 10, 150
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Day 6 Homework Continued

v —————— p—ay——ag -

The coordinates of s ABC are The coordinates of s ABC are
5 A(-2, 3), B4, 0), C(=1. -4), 4 A(-3,1), B(-2,-1),C(2, 2).
" The coordinates of s ' B'C" are * The coordinates of a4'B'C" are
A0, 0), B'(s, -3), C1, -7). A(-6, 2), B'(4, -2), C'(4, 4).
Description: Translation 2 right and 3 down Description Dilation by scale factor 2
Algebraic Rule: _ (xl y) 9()( + 2, y - 3) Algebraic Rule: (X, Y) 9(2X, ZY)
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DayY 6 Homework Contihued

The coordinates of 4 ABC are
A(3, 0), B(-2, 3), C1, -3).

The coordinates of 4 4'B'C" are
A'(6, 0), B(4, -6), C'(-2, 6).

cription: Dilati scale factor 2 AND 180° rotation
Description: Dllla’m;n b)(l g (or reflect across both axes)
Algebraic Rule: (XY )™ ("X,
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DayY 6 Homework Contihued

Part 2: Describe the transformations on the graph verbally and by writing an algebraic rule. Hint:
The triangle with dotted lines is the preimage.

8. A { Ai : (“16)
EETERT Y RS BJ B(—z,z)
5 AN B
Sl 3 'i 8 ¢ (<)
"t : 5 VC' : ' O —(_)
Description: e\ o V2 seription: Translation down 5 AND 90°  rotation
X-ax\sS
Algebraic Qule:(;‘ Wy l%fi;“j! Algebraic Rule: (X, Y) -> (-Y + 5, X)
1z, e A (012) ;
Dl
| B(4,4)
& \78 B'(2p)
A’ A(2.6)

dee
Description: xaxs ditadbyh AW & Reflected over x-axis, dilated by 4

Algebraic Rule: () (%%, %) 5



DayY 6 Homework Contihued

14) AABC is moved up 4 and 2 to the right
C

\

Algebraic Rule:| (X, y) D(x + 2,y + 4)

16) AABC is reflected over the y-axis then

enlar wo. \
g A (-4 ,“Q
I
p%if B8 (¢,2)
S Nt ¢\ (-2)4)

-
-

Algebraic Rule: (X, Y) >(-2x, ZY)

18) AABC is reflected over the x-axis, then
dilated by % , then moved down 2 and left 1.

A (6,71
B (.6"‘25)

\ CGS)'S)

1,

Agebraic rule: (3,3 ) > (4~ for first part
x (4D Ak~ ,’Vzﬂ—‘z‘)*

overall




Tonight’s Homework

Pages 23 — 24 ALL

Pages 13 — 14 ODDS (this IS back in the first part of
the packet, the part we gave you!)

Print Out Third Portion of Unit One Homework by
Tomorrow (bring both printed packets to class from

Blackboard)!
*Packet Days 8-13
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Definition

Figures with the same shape,

Characteristics

All angle pairs are congruent

but of a proportional size. All side pairs are proportional

Examples

=
N/
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Venn Diagram

Same Type of Figures

Similar Figures

Congruent Figures




Foundational Practice
Are the polygons similar?? If so, write a similarity
statement.

A X
| 5 /N6 10 12 14 By: SSS ~
10 12 }, 5 6 7 AA~
4 J., SAS~
| 14

B -

AABC ~ AXYZ

GivenDA = DE and D¢ =D 6, are the polygons similar??
If so, explain why, write a similarity statement, and find x.

¥ G E:i By: AA~
/5& x 3.3
i\s.aﬁ:
A 6ft B E X F x=3.96

ACAB ~ AGEF
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Foundational Practice Continued...
Explain why the triangles are similar and write a
similarity statement.

A B

X By: AA ~

AABX ~ ARQX

Q R

Q

24 2.4

- M 4 8 By: SAS ~

P B

AQMP ~ AAMB

13



A Tough one...Let's try this together!

Explain why the triangles are similar and write a similarity
statement. Then, solve for the variable, where

appropriate.

AACD ~ AABE
BE||CD —Remember to read By: AA ~
the problem!! ©

A Be careful! Drawing the small
Z E triangle separately can help!
o full side _ full side
5 full side  full side
¢ D
X

4
X

oo | w

X =32/3 or 10 2/3
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Some Word Problems

1) A 6 ft tall tent standing next to a cardboard

box casts a 9 ft shadow. If the cardboard
box casts a shadow that 1s 6 ft long then how

tall 1s 1t?

all 151 Ezg OR 921
X 6 9 6
X=4ft

2) A telephone booth that 1s & ft tall casts a
shadow that 1s 4 ft long. Find the height of a

lawn ormament that casts a 2 ft shadow.
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You Try!

3) Amaphas ascaleof 3em : 18 km. If
Riverside and Smithville are 54 km apart
then they are how far apart on the map?

4) Find the distance between Riverside and
Milton if they are 12 cm apart on a map with
ascaleof 4 em : 21 km.

7) A map has a scale of 2 1n: 6 m1. If Clayton
and Centerville are 10 in apart on the map
then how far apart are the real cities?

8) A statue that 1s 12 ft tall casts a shadow that
15 15 ft long. Find the length of the shadow
that a 8 ft cardboard box casts.

16



You Try Answers!

3) Amaphas ascaleof 3em : 18 km. If
Riverside and Smithville are 54 km apart
then they are how far apart on the map?

3 XOR18 g
X

18 54 54
X=9 cm

4) Find the distance between Riverside and
Milton if they are 12 cm apart on a map with

ascaleof4cm: 21 km.
4 _12 (o421
21 X 12

X =63 km

17



You Try Answers!

7) A map has a scale of 2 1n : 6 m1. If Clayton
and Centerville are 10 in apart on the map
then how far apart are the real cities?

2 10 o 2_6
6 X 10 X
X =30miles

&) A statue that 15 12 ft tall casts a shadow that
15 15 ft long. Find the length of the shadow
that a 8 ft cardboard box casts.
12 8 12 15
~_% or £=2
15 X 8 X
X =10 ft

18
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Page 27 Solutions

Are the polygons similar? If they are, write a similarity stafcinent, and give
the similarity ratio. If they are not, explain,

£ ﬁ' 3. A 4 X
12 A‘ 20 20 A 5 Syﬁ
Y W e @%;{%

B M 5 N g5
4. 5. 8 16 A K 6. X 4 ¥
[0
K 6 L
“l::g 35 !
C g g 4 4
& 1 i %
s 1w im s
M 5| 2% wiz T (P ol
Vo) s ot = ‘ propt+"
' ﬂcﬂ': PIN
LMNO ~ HIJK. Complete the proporfions and congruence statements, i "
M N
7. m=1¢X 8 sk=2¢D o ye2eT D
MN _ PN 4y BK . HL 19 I _ HK
Wo0r=m TN e N = Ty, L o



Page 27 Solutions Continued..

‘Notes Packet’
Algebra The polygons are similar. Find the values of the variables.
13. C 4. P Q % - -3- X =
7 23 . L X m
5 ft 5 in.
v 3A o

A 6 ft s 8 in. R 0 x

1. K P
B g e
S am R
Y 15m L
X 1.5om
pz 10 cm S Y x= I©
4 om 3 umman_p— -~ —
w o A [~ o
l
X=3 '}S

AWXZ ~ ADFG. Use the diagram to find the following.
17. the similarity ratio of AWXZ and ADFG Z
18. m2z363" 19. pG = 3.5 20 GgreUYS 5 5
21. m2G:83' 22. meD=3F 23 wz=5 w 374 =

ar1v*=c*




Page 28 Solutions

‘Notes Packet’
Explain why the triangles are similar. Write a similarity statement for
each pair. : ”
5.5 12 ~
1. A B P 2 X0yt 3. Q Sp’g
pABr : 3 A
¥
X SQSN 8 M 4
12 gggm P 2 y B
it - o
Q R & 4%
4. M B 6 A 8
; # rg £ gs s ~
309_ 3 300 e C S H g b
o Y
» 130° Ly 1
B C 2z




Page 28 Solutions Continued..
‘Notes Packet’

Algebra Find the value of x.

X 12 ﬁ" }-
o J i N 2 ;e
- & < . r
° |X=%.5 \ = 11O s MO ik
g BEEEEL
12 15
- M. ¥ 42 X
/ .\ T U4 N W T
X 240 1215
12\ 1ZXx= > B2=3(Y4>) 12 JYx =504

58 B E-,ze.n 2= 12 %f_,———ﬂ [¥=3¢)
13. Natasha places a mirror on the ground 24 ft from the base of an cak ¥=b bl :“‘x\e ‘[

tree. She walks backward until she can see the top of the tree in the

middle of the mirror. At that point, Natasha’s eyes are 5.5 ft above - % g
the ground, and her feet are 4 ft from the image in the mirror. Find .5 ﬂ{% v
the height of the oak tree. sty vedpuiitine 3
4 ft 24 ft
L 5.5
24 X
Yy =132

% = 23 &)




Kahoot!!

* https://play.kahoot.it/#/?quizld=e0bfb771-
bf4a-402b-a409-8548c6b92df6
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Tonight’s Homework

Pages 23 — 24 ALL

Pages 13 — 14 ODDS (this IS back in the first part of
the packet, the part we gave you!)

Print Out Third Portion of Unit One Homework by
Tomorrow (bring both printed packets to class from

Blackboard)!
*Packet Days 8-13
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